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Ra fw;wy; ifNaL 

 

 

fzpjk; 
 

juk; - 8 
 

 

jahupg;G : fzpj ghl Mrpupau;fs; 

         aho;g;ghzk; fy;tp tyak; 
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myF 11 – rkr;rPu; 

 ,UGilr;rkr;rPu; 

o jsTU xd;iw Neu;Nfhnlhd;wpd; topNa kbf;Fk;NghJ ngwg;gLk; ,U gFjpfSk; 

xd;Wlndhd;W rupahfg; nghUe;Jnkdpy; mJ ,UGilr;rkr;rPUila jsTU MFk;. 

o mk; kbg;Gf;NfhL mj;jsTUtpd; rkr;rPu; mr;R vdg;gLk;. 

 
  cjhuzk; 1     cjhuzk; 2 
 

 

 

   

 

gapw;rp 11.1 

gpd;tUk; cUf;fspd; rkr;rPu; mr;Rf;fis tiuf 
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gapw;rp 11.2 

gpd;tUk; cUf;fspd; rkr;rPur;Rf;fspd; vz;zpf;iffis vOJf 

jsTUtpd; ngau; 
Rkr;rPur;Rf;fspd; 
vz;zpf;if 

rkgf;f Kf;Nfhzp 
 

,Urkgf;f Kf;Nfhzp 
 

nrt;tfk; 
 

rJuk; 
 

rha;rJuk; 
 

,izfuk; 
 

xOq;fhd Iq;Nfhzp 
 

xOq;fhd mWNfhzp 
 

xOq;fhd vz;Nfhzp 
 

tl;lk; 
 

 

 

 Row;rpr;rkr;rPu; 

o jsTU xd;iw mjd; ikag;Gs;spgw;wp xU KOr;Row;rpf;F(3600) cl;gLj;Jk;NghJ jd; 

Muk;g epiyAld; ,uz;L my;yJ ,uz;bw;F Nkw;gl;l jlitfs; nghUe;Jnkdpy; 

mJ Row;rpr; rkr;rPUila jsTU MFk;. 

o mt;thW nghUe;Jk; jlitfspd; vz;zpf;ifahdJ row;rpr;rkr;rPu; tupir vdg;gLk;. 

o ikag;Gs;spahdJ mjd; Row;rpikak; MFk;. 

 

cjhuzk; 

 

 

 

 

 

 nrt;tfj;jpd; row;wpr;rkr;rPu; tupir 2 MFk;.  

A 

A 

A A A A 

A 

A 

A 

A 
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gapw;rp 11.3 

gpd;tUk; cUf;fspd; row;wpr;rkr;rPu; tupirfspd; vz;zpf;iffis vOJf 

jsTUtpd; ngau; Row;rpr;rkr;rPu; tupir 

rkgf;f Kf;Nfhzp 
 

,Urkgf;f Kf;Nfhzp 
 

nrt;tfk; 
 

rJuk; 
 

rha;rJuk; 
 

,izfuk; 
 

xOq;fhd Iq;Nfhzp 
 

xOq;fhd mWNfhzp 
 

xOq;fhd vz;Nfhzp 
 

tl;lk; 
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myF 12 – Kf;NfhzpfSk; ehw;gf;fy;fSk; 

 

 gf;fq;fspd; mbg;gilapy; Kf;Nfhzpfspd; tiffs; 
 

 

 

 

 

 

 

 

 Nfhzq;fspd; mbg;gilapy; Kf;Nfhzpfspd; tiffs; 

 

 

 

 

 

 

 

 Kf;Nfhzp xd;wpd; mff;Nfhzq;fspd; $l;Lj;njhif 

 xU Kf;Nfhzpapd; cr;rpfspy; cl;Gwkhf mikAk; Nfhzq;fs; 
mff;Nfhzq;fs; vdg;gLk;. 

 
 

 

 

 

 

 

 Kf;Nfhzp xd;wpd; mff;Nfhzq;fspd; $l;Lj;njhif 1800 MFk;. 
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cjhuzk; :   

  

 

 

 

 

gapw;rp 12.1 

 

 

 

 

 

  

 

 

 

 

 

 

 

 ehw;gf;fnyhd;wpd; mff;Nfhzq;fspd; $l;Lj;njhif 

 

 

 

 

 

 

 

 ehw;gf;fnyhd;wpd; mff;Nfhzq;fspd; $l;Lj;njhif 3600 MFk;. 

x + 75
0
 + 40

0 
 =  180

0
 

x + 115
0
 = 180

0
  

 x = 180
0
 – 115

0
 

 x = 65
0
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cjhuzk; : 

  

 

 

 

 

 

gapw;rp 12.2 

 

 

 

 

 

 

 

 

 

 

 

 Kf;Nfhzp xd;wpd; Gwf;Nfhzq;fspd; $l;Lj;njhif 

 xU Kf;Nfhzpapd; gf;fq;fis XnuhOq;fpy; ePl;Lk;NghJ mjd; cr;rpfspy; 
ntspg;Gwkhf mikAk; Nfhzq;fs; Gwf;Nfhzq;fs; vdg;gLk;. 

 

 

 

 

 

 

 xU Kf;Nfhzpapd; gf;fq;fis XnuhOq;fpy; ePl;Lk;NghJ cz;lhFk; 
Gwf;Nfhzq;fspd; $l;Lj;njhif 3600 MFk;. 

x + 85
0
 + 100

0 
 +  95

0
 =  360

0
 

x + 280
0
 = 360

0
  

 x  = 360
0
 – 280

0
  

x  = 80
0
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cjhuzk; :  

  

 

 

 

 

 

gapw;rp 12.3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 ehw;gf;fy; xd;wpd; Gwf;Nfhzq;fspd; $l;Lj;njhif 

 

 

 

 

 

 

 ehw;gf;fnyhd;wpd; Gwf;Nfhzq;fspd; $l;Lj;njhif 3600 MFk;. 

x + 105
0
 + 120

0 
 =  360

0
 

x + 225
0
 = 360

0
  

  x = 360
0
 – 225

0
 

  x = 135
0
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cjhuzk; :  

  

 

 

 

 

 

 

gapw;rp 12.4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

x + 85
0
 + 70

0 
 +  125

0
 =  360

0
 

x + 280
0
 = 360

0
  

 x  = 360
0
 – 280

0
  

x  = 80
0
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myF 13 - gpd;dq;fs; (ngUf;fy;) 

fw;ww;NgW 

xU gpd;dj;ij KO vz;zhy; ngUf;Fjy; 

1

5
+

1

5
+

1

5
=

3

5
 MFk; ,jid 

1 

5
× 3 =

3

5
 vd vOjyhk;. 

 mjhtJ 
1

5
 fs; 3 vd;gJ 

3

5
 MFk;. 

1

8
+

1

8
+

1

8
+

1

8
+

1

8
=

5

8
 MFk; ,jid 

1 

8
× 5 =

5

8
 vd vOjyhk;. 

 mjhtJ 
1

8
 fs; 5 vd;gJ 

5

8
 MFk;. 

,jw;Nfw;g xUgpd;dj;ij xU KO vz;zhy; ngUf;Fk;NghJ KO vz;zhdJ 
gpd;dj;jpd; njhFjp vz;Zld; ngUf;fg;gLk;. 

gapw;rp 

1. 
1

7
× 3 2. 

1

8
× 3     3. 

2

9
× 4      4.  5 ×

3

7
      5.  7 ×

3

8
 

   6. 
1

9
× 8     7. 

2

13
× 4    8. 1 5 ×

3

7
     9. 11 ×

3

7
     10. 

7

9
× 1 

Nkyjpf gap;w;rp ghlE}ypy;  13.1 gf;f ,yf;fk; 173  

fw;ww;NgW 

xU gpd;dj;ij   NtnwhU gpd;dj;jhy;  ngUf;Fjy; 

 

xU gpd;dj;ij   NtnwhU gpd;dj;jhy;  ngUf;Fk;NghJ gFjp vz;iz gFjp 
vz;zpdhYk; njhFjp vz;iz njhFjp vz;zpdhYk; ngUf;f Ntz;Lk;. 

c + k; 

1. 
4

7 
×

3

5
=

4×3

7×5
=

12

35
            2. 

1

3 
×

4

7 
×

2

5 
=

1×4×2

3×7×5
=

8

105
 

 

gapw;rp 

1. 
3

7 
×

3

5
       2. 

4

5 
×

3

5
       3. 

6

7 
×

3

5
  

     

4. 
5

8 
×

1

3
      5. 

11

13 
×

3

5
      6. 

1

4 
×

3

5 
×

3

7
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gpd;tUk;  gapw;rpia nra;tjw;Fupa RUf;Fk; Ew;gKiwia ghlE}y; Gj;jfj;jpy; 
gf;f ,y 176 ,y; ,Ue;J tpsq;fpf; nfhs;f. 

1. 
4

7 
×

3

4
     2. 

4

5 
×

5

9
     3. 

6

7 
×

7

12
     4. 

14

15 
×

5

7
    

 

5. 
11

16
×

5

22
    6. 

1

 12
×

4

7 
×

7

9 
   7. 

2

3 
×

5

8 
×

3

5 
   8. 

9

10
×

5

6 
×

1

3 
   

  

9. 
1

18 
×

5

12 
×

9

10 
    10. 

9

21 
×

14

13 
×

26

45 
 

Nkyjpf gap;w;rp ghlE}ypy;  13.2 gf;f ,yf;fk; 176  

fw;ww;NgW 

xU gpd;dj;ij   fyg;G vz;zhy;;  ngUf;Fjy; 

c +k;     1
2

3 
× 2

1

4
=

5

3
×

9 

4
=

15

4
= 3

3

4
 

 

    c+k;      2
3

8 
× 3

1

5
×

5

13
=

19

8
×

16

5
×

5

13
=

38

13
= 2

12

13
 

 

gapw;rp 

1. 1
4

7 
×

7

11
     2. 3 

4

5 
×

15

19
     3. 1

6

7 
× 1

7

13
    

 

4.  2 
4

5 
× 1

5

7
    5. 2

3

8
× 2

2

19
 

 
Nkyjpf gap;w;rp ghlE}ypy; gFjp 1  13.4 gf;f ,yf;fk; 179 
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myF 14 - gpd;dq;fs; (tFj;jy;) 

fw;ww;NgW 

xu; vz;zpd; epfu;khw;W 

2 ×
1

2
= 1 

 3

8
×

8

3
= 1 

,t;thW ,uz;L vz;fspd; ngUf;fk; 1 Mapd; ,xt;Nthu; vz;Zk; kw;iwa 

vz;zpd; epfu;khw;W vd miof;fg;gLk;. 

 

 

 

 

 

 

 

 

 

 

gapw;rp 

rupahd ngWkhdj;ij ,l;L milg;Gf;fis epug;Gf. 

1. 
5

7
×

5
= 1     2. 

1

5
× = 1     3. 1

3

5
× = 1 

 

xU gpd;dj;ij KO vz;zhy;  tFj;jy; 

c + k; 1. 
1

3
÷ 3 =

1

3
×

1 

3 
=

1

9
    2. 

3

7
÷ 4 =

3

7
×

1

4
=

3

28
   

 

 3. 1 
3

5
÷ 3 =

8

5
×

1

3
=

8

15
 

    vz; epfu;khw;W 

2 
1

2
 

3

8
 

8

3
 

5

7
 

7

5
 

1
2

3
=

5

3
 

3

5
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Fwpg;G  : tFj;jy; vd;gJ epfu;khw;wpdhy; ngUf;FtjhFk; 

gapw;rp 

1. 
4

7 
÷ 4      2.

4

5 
÷ 3      3. 

6

7 
÷ 8   

 

  4.
14

15 
÷ 7       5. 1

3

5
÷ 8 

 

xU gpd;dj;ij   NtnwhU gpd;dj;jhy;  tFj;jy; 

c + k;   1. 
𝟑

𝟓
÷

𝟑

𝟒
=

𝟑

𝟓
×

𝟒

𝟑
=

𝟒

𝟓
      

    2. 2
𝟏

𝟑
÷

𝟕

𝟖
=

𝟕

𝟑
 ×

𝟖

𝟕
=

𝟖

𝟑
= 𝟐

𝟐

𝟑
 

gapw;rp 

1. 
4

7 
÷

4

5
     2.   3 

4

5 
÷

19

25
     3. 1

6

7 
÷ 2 

3

5
    

 

  4.   2 
4

5 
÷ 1

5

7
      5. 2

3

8
÷ 3

2

3
 

 
Nkyjpf gap;w;rp ghlE}ypy; gFjp 1  14.4>14.5  gf;f ,yf;fk; 187>189  
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myF 15 - jrkq;fs; 

gpd;dnkhd;iw mjd; gFjp vz; 10>100>1000>…… vd;wthW gj;jpd; tYthf 
khw;wpf;nfhz;lhy; mg;gpd;dj;ij jrk vz;zhf khw;WtJ ,yFthf ,Uf;Fk; 

cjhuzq;fs;  

1. 𝑖.
1

  10 
= 0.1                         𝑖𝑖.

9

10
= 0.9                               𝑖𝑖𝑖.

19

10
= 1.9 

                     𝑖𝑣.
1

100
= 0.01                  𝑣.

17

100
= 0.17 

 

2.    𝑖.
125

100
= 1.25                𝑖𝑖.

1

1000
= 0.001                    𝑖𝑖𝑖.  

19

1000
= 0.019         

𝑖𝑣.  
189

1000
= 0.189                    𝑣.

1239

1000
= 1.239 

 

gpd;tUk; gpd;dq;fis jrk vz;zhf khw;wp vOJf 

1. 
2

  10 
     2. 

7

10
     3. 

23

10
     4. 

7

100
    5. 

39

100
 

 

  6. 
187

 100
     7. 

3

1000
    8. 

41

1000
   9. 

175

1000
   10. 

4123

1000
 

 

gFjp vz; gj;jpd; tYf;fshf mikahj gpd;dq;fis jrk vz;fshf 
khw;Wjy; 

cjhuzq;fs; 

2

5
=

2 × 2

5 × 2
=

4

10
= 0.4        

 

23

125
=

23 × 8

125 × 8
=

184

1000
= 0.184 

 

2

25
=

2 × 4

25 × 4
=

8

100
= 0.08         
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gpd;tUk; gpd;dq;fis jrk vz;zhf khw;wp vOJf 

1. 
3

  5 
      2. 

7

20
       3. 

23

50
      4. 

7

8
       5. 

39

125
 

2.  

fyg;G vz;fis jrk vz;fshf khw;WNthk; 

cjhuzq;fs;            1
2

5
=

7

5
=

14

10
= 1.41                                

                                                         
2

25
=

27

25
=

108

100
= 1.082 

                      
13

500
=

1013

500
=

2026

1000
= 2.026 

 

gpd;tUk; fyg;G vz;fis jrk vz;fshf khw;Wf. 

1. 2
3

5
      2. 3

7

25
     3. 4

9

50
      4. 2

7

125
      5.  2

11

250
 

2.  

jrk vz;fis gj;jpd; tYf;fshy; ngUf;Fjy; 

cjhuzq;fs; 

1. 1.5 × 10 = 15      2.  12.56 × 10 = 125.6     

  

3. 1.52 × 100 = 152    4.   1.236 × 1000 = 1236 

 

ngWkhdk; fhz;f 

1. 1.52 × 10      2. 12.5 × 10     3. 1.542 × 10     4.  1.578 × 100  

  5. 12.56 × 100    6. 1.582 × 10     7.  41.23 × 1000 

 

KO vz; xd;iw jrk vz;zhy; ngUf;Fjy; 

 

cjhuzk;1:    Kiw 1 

8 × 0.7 = 8 ×
7

10
=

56

10
= 5.6 
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             Kiw 2 

0.7 ,d; jrk jhdq;fisf; fUjhJ 8 × 7 = 56 ngUf;fNtz;Lk;.0.7 ,y; 

xU jrkjhdk; kl;Lk; ,Ug;gjhy; tpilapYk; xU jrkjhdg;Gs;sp 
,Uf;FkhW jrkg;Gs;spia ,lNtz;Lk;. 

cjhuzk;2:    8 × 0.17 = 8 ×
17

100
=

136

100
= 1.36 

0.17 ,d; jrk jhdq;fisf; fUjhJ 8 × 17 = 136 ngUf;fNtz;Lk;.0.17 

,y; ,U jrkjhdq;fs;  ,Ug;gjhy; tpilapYk; ,U jrkjhdg;Gs;sp 
,Uf;FkhW jrkg;Gs;spia ,lNtz;Lk;. 

,jd;gb 8 × 0.17 = 1.36MFk;. 

 

cjhuzk;3:     2.13 × 0.9 = 1.917 

 2.13 > 0.9 ,d; jrk jhdq;fisf; fUjhJ 213 × 9 = 1917 
ngUf;fNtz;Lk;.2.13 ,y; ,U jrkjhdq;fSk;>0.9 ,y; xU jrkjhdKk;   
,Ug;gjhy; tpilapy; %d;W jrkjhdg;Gs;sp ,Uf;FkhW jrkg;Gs;spia 
,lNtz;Lk;. 

        ,jd;gb 2.13 × 0.9 = 1.917 MFk;. 

   gapw;rp 

1. 152 × 0.3    2. 12.5 × 1.8      3. 1.5 × 1.9      4.  2.5 × 3.12    

5. 7. 2 × 1.5     6. 1.582 × 2.7     7.  41.23 × 0.23 

Nkyjpf gap;w;rp ghlE}ypy; gFjp 11  15.1> 15.2  gf;f ,yf;fk; 5>7  
 
 

KO vz; xd;wpid jrk vz;zhy; tFj;jy; 
 

cjhuzk;1:    56 ÷ 0.7  tFgLk; vz; 56 

              tFj;jp 0.7 
tFj;jpia 10 ,d; tYf;fshy; ngUf;fp KO vz;zhf khw;Wjy; 
gpd;du; nghJthd Kiwapy; tFj;jy;.  

                56 ÷ 0.7  ,jid 
56

0.7
=

56×10

0.7×10
=

560

7
= 80 

                56 ÷ 0.7 = 80   MFk;. 
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cjhuzk;2:    108 ÷ 0.12 

108

0.12
=

108 × 100

0.12 × 100
=

10800

12
= 900 

                           108 ÷ 0.12 = 900MFk;. 
 

gapw;rp 
 

1. 125 ÷ 0.5    2. 564 ÷ 0.4    3.  981 ÷ 0.9    4. 12 ÷ 0.12    5. 475 ÷ 0.15 
 

Nkyjpf gap;w;rp ghlE}ypy; gFjp 11>  15.3 gf;f ,yf;fk; 10 
 

jrk vz; xd;iw jrk vz;zhy; tFj;jy; 
 

cjhuzk;1:    5.6 ÷ 0.7  tFgLk; vz; 5.6 
               tFj;jp 0.7 
tFj;jpia 10 ,d; tYf;fshy; ngUf;fp KO vz;zhf khw;Wjy; 
gpd;du; nghJthd Kiwapy; tFj;jy;.  

                 56 ÷ 0.7  ,jid 
5.6

0.7
=

5.6×10

0.7×10
=

56

7
= 8 

                 5.6 ÷ 0.7 = 8   MFk;. 

cjhuzk;2:    10.8 ÷ 0.12 
 

108

0.12
=

10.8 × 100

0.12 × 100
=

1080

12
= 90 

 

                                          10.8 ÷ 0.12 = 90MFk;. 
gapw;rp  

1.  0.99 ÷ 0.9       2. 6.93 ÷ 0.03      3. 97.5 ÷ 0.15   

4. 0.0125 ÷ 2.5     5. 0.5922 ÷ 0.14 
 

Nkyjpf gap;w;rp ghlE}ypy; gFjp 11>  15.4 gf;f ,yf;fq;fs; 12>13 
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myF 16 - tpfpjk; 

nfhq;fpwPl;Lf; fyit jahupf;Fk;NghJ fdtsTg;gb 1 jhr;rp rPnke;J > 4 jhr;rp 
kzy; > 5 jhr;rp rpWfw;fs; fyf;fg;gl;ld. ,f;nfhq;fpwPl;Lf; fyitapy; 

rPnke;J> kzy; > rpWfw;fs; fyf;fg;gl;l tpfpjk; 1: 4: 5 vd  vOjg;gLk;.  

,J 1> 4 ,w;F 5 ,w;F   vd thrpf;fg;gLk;. 

,q;F 1 > 4 > 5 vd;gd tpfpjj;jpd; cWg;GfshFk;. 

 

tpfpjnkhd;wpd;  cWg;Gf;fisg; G+r;rpaj;jpYk; ngupa vz;zhy; ngUf;Ftjhy; 
my;yJ tFg;gjhy; mt;tpfpjj;jpw;Fr; rktYthd tpfpjj;ijg; ngwyhk;. 

cjhuzq;fs; 

1) 2 ∶ 3 ∶ 4 = 6 ∶ 9 ∶ 12          2) 
1

2 
: 1 ∶ 2 = 1 ∶ 2 ∶ 4 

gpd;tUk; xt;nthU tpfpjj;jpw;Fk; rktYthd %d;W tpfpjq;fs; vOJf. 

1) 3 : 4      2) 2 : 5 : 6         
3) 8 : 1 : 5         4) 5 : 3 : 7 
 

vspa tpfpjk; 

12 : 15 vDk; tpfpjj;jpd; vspa tbtk; 4 : 5 MFk;. 

gpd;tUk; xt;nthU tpfpjj;ijAk; vspatbtpy; vOJf. 

1) 14 : 7       2) 20 : 25       3) 35 : 15     

4) 48 : 64      5) 15 : 25 : 30 

 
Nkyjpf gap;w;rp ghlE}ypy; gFjp 11> gf;f ,yf;fq;fs; 15>16 
 

tpfpjnkhd;iwg;   gpd;dkhf $Wjy; 

 KUfd; > fkyd; MfpNahuplk; &gh 50> &gh 80 gzj; njhiffs; cs;sd. 

1. ,UtUk; itj;jpUf;Fk; gzj; njhiffSf;fpilNaAs;s tpfpjk;  50 ∶ 80 = 5 ∶ 8  

MFk; 

2. tpfpjj;j;pd; cWg;Gf;fis 8 ,dhy; tFj;jhy; ehk; ngWtJ 
5 

8
∶  1 

3. KUfd; itj;jpUf;Fk; gzk;  >fkyd; itj;jpUf;Fk; gzj;jpd; mstpd;
5

8
MFk;. 
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 rpj;jpuh >jhupzp Mfpa ,UtUf;fpilapy;  xUnjhif ney;ypf;fdpfis gq;fpl;lNghJ 

rpj;jpuhtpw;F 15 ney;ypf;fdpfSk; >jhupzpf;F 20 ney;ypf;fdpfSk; fpilj;jJ. ,UtUk; 

itj;jpUf;Fk; ney;ypf;fdpfSf;F ,ilNaAs;s tpfpjk; 15: 20 = 3: 4 MFk; 

1. ,UtUk; itj;jpUf;Fk; nkhj;j ney;ypf;fdpfs; 35  

2. rpj;jpuhtplk; cs;s ney;ypf;fdpfs; nkhj;j ney;ypf;fdpfspd; gpd;dkhf 
15

35
=

3

7
 

3. jhupzpaplk; cs;s ney;ypf;fdpfs; nkhj;j ney;ypf;fdpfspd; gpd;dkhf 
20

35
=

4

7
 

4. ,UtUk; itj;jpUf;Fk; ney;ypf;fdpfSf;F ,ilNaAs;s tpfpjk;  15: 20 = 3: 4  

MFk; 

 

gapw;rp  

1. fe;jd; >mkyd; MfpNahuplk; &gh 450> &gh 750 fpilf;ff;$bajhf xU njhifg; 
gzj;ij gq;fpl;ldu; 

I. ,UtUk; itj;jpUf;Fk; gzj;jpw;fpilNaAs;s tpfpjk;  ahJ? 

II. fe;jd; itj;jpUf;Fk; gzk; > mkyd; itj;jpUf;Fk; gzj;jpd; mstpd; 
vd;dgpd;dk; MFk;. 
 
Nkyjpf gap;w;rp ghlE}ypy; gFjp 11>  16.1 gf;f ,yf;fk; 18 
 

 
ntt;NtW KjyPLfis rkkhd fhyj;jpw;F tpahghunkhd;wpy;  

<LgLj;Jtjhy; fpilf;Fk; ,yhgj;ij gq;fply; 
cjhuzk; 
tUl Muk;gj;jpy; kjd; &gh 32000 [Ak; mUz; &gh 48000 [Ak; KjyPL nra;J  

tpahghuj;ij Muk;gpj;jdu; .xU tUlj;jpd; Kbtpy; fpilf;fg;ngw;w ,yhgkhd &gh 50000 [ 

mtu;fsJ KjyPl;bd; tpfpjg;gb gfpu;e;J nfhs;fpd;wdu;. xt;nthUtUf;Fk; fpilf;Fk; 

,yhgj;ij fhz;f? 

 kjd; >mUz; MfpNahuJ KjyPl;L tpfpjk;  = 32000: 48000 

         =         2 ∶  3 

tpfpjj;jp;y; cs;s nkhj;j gq;Ffspd; vz;zpf;if     = 2 + 3 = 5 

     nkhj;j ,yhgk;                                                          =  &gh  50000 

kjdpd; ,yhgk; gpd;dkhf                    =
2

5
 

kjdpw;F fpilf;Fk; ,yhgk;                  =
2

5
× 50000 

                                    = &gh 20000 

mUzpw;F fpilf;Fk; ,yhgk;                 =
3

5
× 50000 

                                     = &gh 30000 
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gapw;rp 

tUl Muk;gj;jpy; Rjd; &gh 60000 [Ak; tUz; &gh 72000 [Ak; KjyPL nra;J 
tpahghuj;ij Muk;gpj;jdu; .xU tUlj;jpd; Kbtpy; fpilf;fg;ngw;w ,yhgkhd &gh 55000 [ 
mtu;fsJ KjyPl;bd; tpfpjg;gb gfpu;e;J nfhs;fpd;wdu;. xt;nthUtUf;Fk; fpilf;Fk; 
,yhgj;ij fhz;f? 

KjyPLfisr; rkkw;w fhyq;fspw;F tpahghunkhd;wpy; <LgLj;Jtjhy; 
fpilf;Fk; ,yhgj;ij gfpu;jy; 

cjhuzk;  
Nfrd; >Fwpg;gpl;l tUlj;jpd; ij khjk; 1 Me;jpfjp &gh 30000 I KjyPL nra;J 

tpahghuj;ij Muk;gpf;fpd;whu; .ujd; mjw;F 3 khjq;fspd; gpd;du; &gh 50000 I KjyPL 

nra;J mNjtpahghuj;jpy; ,ize;J nfhs;fpd;whu;. mt;tUl ,Wjpapy; fpilf;fg;ngw;w &gh 

72000 ,yhgj;ij KjyPL fhyk; vd;gtw;wpw;Nfw;g gfpe;J nfhz;ldu;. xt;nthUtUf;Fk; 

fpilf;Fk; ,yhgk; vt;tsT? 

 

,yhgk; gfpug;gLk; tpfpjk;   =   30000 x 12 : 50000 x 9 

=       360000    :    450000 

                                                     =           4  :  5 

NfrDf;F fpilf;Fk; ,yhgk;       = 
4

9
× 72000   = &gh 32000 

NfrDf;F fpilf;Fk; ,yhgk;       = 
5

9
× 72000  = &gh 40000 

gapw;rp 

kjd; >Fwpg;gpl;l tUlj;jpd; ij khjk; 1 Me;jpfjp &gh 40000 I KjyPL nra;J 
tpahghuj;ij Muk;gpf;fpd;whu; .ujd; mjw;F 4 khjq;fspd; gpd;du; &gh 30000 I KjyPL 
nra;J mNjtpahghuj;jpy; ,ize;J nfhs;fpd;whu;.mt;tUl ,Wjpapy; fpilf;fg;ngw;w 
&gh60000 ,yhgj;ij KjyPL >fhyk; vd;gtw;wpw;Nfw;g gfpu;e;J nfhz;ldu;. xt;nthUtUf;Fk; 
fpilf;Fk; ,yhgk; vt;tsT? 

 
Nkyjpf gap;w;rp ghlE}ypy; gFjp 11>  16.2 gf;f ,yf;fq;fs; 21>22 

 

 

 

 

ngau; KjyPL fhyk; KjyPL x fhyk; 

Nfrd; &gh 30000 12  30000 x 12 

ujd; &gh 50000 9        50000 x 9 
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myF 17 - rkd;ghLfs; 

cjhuzq;fs; 

 (1) 𝑥 + 3 = 8              (2)  𝑥 − 4 = 7             (3)  2𝑥 = 8 

               𝑥 + 3 − 3 = 8 − 3                             𝑥 − 4 + 4 = 7 + 4               
2𝑥

2
=  

8

2
 

                              𝑥 = 5                                                      𝑥 = 11                                         𝑥 = 4 

(4)            
𝑥

3
= 5                                   (5)              2𝑥 + 3 = 7 

                     
𝑥

 3
× 3 = 5 × 3                                          2𝑥 + 3 − 3 = 7 − 3 

                               𝑥 = 15                                                                       2𝑥 = 4 

                                               
2𝑥
2

= 4
2
 

                                     𝑥 = 2 

gpd;tUk; rkd;ghLfisj;jPu;f;f 

1. 𝑥 + 4 = 7     2. 𝑥 − 5 = 6     3. 3𝑥 = 15     4. 
𝑥

4
= 7   

5.  3𝑥 − 2 = 7    6.  5𝑥 − 7 = 8    7. 
2𝑥

3
= 6      8. 

𝑥

3
+ 4 = 8     

9. 
2𝑥

3
− 3 = 5     10.  5𝑥 + 1 = 𝑥 + 13 

Nkyjpf gap;w;rp ghlE}ypy;> gapw;rp 17.2 gf;f ,yf;fk; 32 
 

milg;Gf;fif; nfhz;l rkd;ghLfisj;jPu;j;jy ; 

 

(1)  2(𝑥 + 3) = 12           (2) 5(𝑥 − 1) = 10          (3) 
2(𝑥+3)

5
= 4 

            2𝑥 + 6 = 12                                           5𝑥 − 5 = 10                        
2(𝑥 + 3)

5
× 5 = 4 × 5 

       2𝑥 + 6 − 6 = 12 − 6            5𝑥 − 5 + 5 = 10 + 5                         2(𝑥 + 3) = 20 

                       2𝑥 = 6                                                  5𝑥 = 15                                       2𝑥 +6= 20 

                         𝑥 = 3                                                     𝑥 = 3                                               2𝑥 = 14 

         𝑥 = 7 
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gpd;tUk; rkd;ghLfisj;jPu;f;f 

1)  3(𝑥 + 4) = 15       2) 4(𝑥 − 3) = 16    3) 
3(𝑥+5)

5
= 6     4) 2(𝑥 + 2) − 1 = 7  

5)  2(𝑥 + 3) + 3 = 17    6) 5(𝑥 − 1) − 4 = 11     7) 
2(𝑥+3)

5
− 2 = 4 

 
Nkyjpf gap;w;rp ghlE}ypy; gapw;rp 17.3 gf;f ,yf;fq;fs; 33 > 34 
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myF 18 – rjtPjk; 

 rjtPjk; 
o gFjpnaz;iz 100 Mff; nfhz;l gpd;dnkhd;wpd; njhFjpnaz;zhdJ 

rjtPjk; vdg;gLk;. 

cjhuzk; :  
17

100
= 17% 

gapw;rp 18.1  

gpd;tUtdtw;iwr; rjtPjkhfj; jUf 

 

 

 

 

 

 

 

 

 gFjpnaz; 100 ,d; fhuzpahf mikAk; gpd;dq;fisr; rjtPjkhf;fy; 

100 
2 X 50 
4 X 25 
5 X 20 

10 X 10 

cjhuzk; : 
7

25
=  

28

100
= 28% 

gapw;rp 18.2 

gpd;tUtdtw;iwr; rjtPjkhfj; jUf 

 

 

 

 

 

 

(1)
25

100
 

(2)
84

100
 

(3)
9

100
 

(4)
135

100
 

(5)
4.7

100
 

(6)
0.35

100
 

(7)2
50

100
 

(8)
𝑥

100
 

(1)
9

10
 

(2)
13

20
 

(3)
7

50
 

(4)
1

4
 

(5)
4

5
 

(6)
1

2
 

  (7)
11

25
 

     (8)2
6

10
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 gpd;dnkhd;iw my;yJ jrknkhd;iwr; rjtPjkhf;Ftjw;F 100 ,dhy; ngUf;fNtz;Lk;. 

cjhuzk; 1 :  
14

35
    cjhuzk; 2 :   0.7 

   

 

 

gapw;rp 18.3 

 

 

 

 

 

 

 tpfpjq;fisr; rjtPjkhf;fy; 

cjhuzk; : 3 : 5 

                        3 ∶ 5 =  
3

5
 =  

60

100
= 60% 

gapw;rp 18.4  

(1) 4 : 10 

(2) 9 : 20 

(3) 6 : 25 

(4) 7 : 4 

(5) 11 : 5 

 

 rjtPjj;ijg; gpd;dkhf khw;wy; 
o rjtPjj;ijg; gpd;dkhf khw;Wtjw;F 100 ,dhy; tFf;f Ntz;Lk;. 

cjhuzk; 1: 15%   cjhuzk; 2: 4.8%   cjhuzk; 3: 6
2

3
% 

 

 

 

 

(1)
18

24
 

(2)
15

30
 

(3)
3

60
 

(4)
28

40
 

  (5) 0.45 

(6) 0.8 

  (7) 0.05 

 (8) 1.6 

15% =
15

100
=  

3

20
 

 

4.8% =
4.8

100
=  

48

1000
=

6

125
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gapw;rp 18.5 

 

 

 

 

 rjtPjj;ij tpfpjkhf khw;wy; 

cjhuzk; : 30% =  
30

100
=  

3

10
= 3 ∶ 10 

 

 

 

 

 xU msit mjd; KOmstpd; rjtPjkhff; fhl;ly; 

cjhuzk; : 200g I 4kg ,d; rjtPjkhj; jUf 

  
200

4000
=

20

400
=

5

100
= 5% 

gapw;rp 18.6 

(1) 25 cm I 1m ,d; rjtPjkhj; jUf? 

(2) 20 epkplj;ij 1kzpj;jpahyj;jpd; rjtPjkhj; jUf? 

(3) xU tFg;gpYs;s 50 gps;isfspy; 30Ngu; ngz;fs; vdpy; ngz;fpspd; rjtPjk; ahJ? 

(4) Gj;jhz;ilf; nfhz;lhLtjw;fhf thq;fpa 25 ntbfspy; 5 ntbfs; ntbf;ftpy;iy 

vdpy; ntbj;j ntbfspd; rjtPjk; ahJ? 

(5) njhopyhsp xUtuJ khjr;rk;gsk; &gh 30000 MFk;. mjpy; &gh 21000 Ir; nryT 

nra;jgpd; vQ;rpa gzj;ijr; Nrkpf;fpd;whu; vdpy; mtu; Nrkpf;Fk; gzj;jpd; rjtPjk; 

ahJ? 

 

 xU njhifapd; Fwpj;j rjtPjj;jpw;Fupa msitf; fhzy; 

cjhuzk; : &gh 2000 ,d; 18% vt;tsT? 

gapw;rp 18.7 

(1) 300km ,d; 20% vt;tsT? 

(2) 4l vupnghUspd; 15% vt;tsT? 

(3) ghlrhiynahd;wpypUe;j 600 khztu;fspy; 35% MNdhu; Fwpj;j jpdnkhd;wpy; 

ghlrhiyf;F tutpy;iy vdpy; tUif juhj khztu;fs; vj;jid Ngu;? 

(4) ,uhkd; jdJ &gh45000 khjr;rk;gsj;jpd; 8% I Nghf;Ftuj;jpw;Fr; nryT nra;fpwhd; 

vdpy; Nghf;Ftuj;Jr; nryT ahJ? 

(1) 25% 

(2) 40% 

 (3)150% 

 

(4) 4.5% 

 (5) 2.25% 

(6)0.5% 

 

(7) 
25

32
% 

(8) 1
3

5
% 

 

 

(1) 20% 

(2) 45% 

 (3)150% 

      (4)75 %  
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 xU rjtPjj;jpw;Fupa msT jug;gLk;NghJ nkhj;j msitf; fhzy; 

cjhuzk; :  xU tFg;gpYs;s khztu;fspy; 12% MNdhu; Mz;fshtu;. mq;Fs;s 

Mz;fspd; vz;zpf;if 36 vdpy; khztu;fspd; nkhj;j vz;zpf;if 
ahJ? 

    

 

 

 

gapw;rp 18.8  

(1) xUtuJ khjr;rk;gsj;jpd; 30% MdJ &gh8400 vdpy; mtuJ rk;gsk; ahJ? 

(2) xU kio ehspy; ghlrhiy xd;wpy; gps;isfspd; tuT 60% Mf ,Ue;jNghJ md;W 

tUif je;jpUe;j gps;isfspd; vz;zpf;if 420 vdpy; ghlrhiyapYs;s 

gps;isfspd; nkhj;j vz;zpf;if ahJ? 

(3) ,Uk;G> ehfk; fyf;fg;gl;l Xu; cNyhff; fyitapy; 64% ehfk; MfTk; ,Uk;gpd; 

jpzpT 180g MfTkpUg;gpd; fyg;G cNyhfj;jpd; jpzpT ahJ? 

(4) xUtuplkpUe;j gzj;jp;d; 65% Ir; nryT nra;jgpd; mtuplk; &gh1400 vQ;rpapUe;jJ 

vdpy; mtuplkpUe;j nkhj;jg;gzk; ahJ? 
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myF 19 – njhilfs; 

 njhilfspd; mwpKfk; 
o epr;rakhd tiuaiw xd;wpd; %yk; NtWgLj;jp ,dq;fhzj;jf;f njhFjpahdJ 

njhil vdg;gLk;. 

o njhil xd;wpd; midj;J %yfq;fisAk; ,ul;il milg;GfspDs;Ns vOjpf;fhl;l 

KbAk;. 

o xt;nthU %yfKk; xU jilt khj;jpuNk vOjg;gLk;. 

 

 njhil xd;wpd; %yfj;ijf; fhl;Lk; FwpaPL  

cjhuzk; : A = { 1 > 3 > 5 > 7 } vdpy; 

  3 MdJ njhil A ,d; xU %yfkhFk;  vd;gJ   

 6 MdJ njhil A ,d; xU %yfkd;W vd;gJ  

gapw;rp 19.1 

Mfpatw;wpy; nghUj;jkhd FwpaPl;il fPwpl;l ,lj;jpy; ,l;L epug;Gf 

(1) B = { 2 , 4 , 6 , 8 , 10 } vdpy; 

i. 5 ………. B 

ii. 10 ………. B 

(2) 13 ……… { Kjd;ik vz;fs;} 

(3) 8 ………. { rju vz;fs;} 

(4) U……… { Mq;fpy capnuOj;Jf;fs;} 

(5) ful; ……… { goq;fs; } 

 

 #dpaj;njhil 
o epr;rakhf tiuaWf;fg;gl;l njhil xd;wpw;F %yfq;fs; vJTk; mikahJ 

tpbd; mJ #dpaj;njhil vdg;gLk;. 

cjhuzk; :  M = { 4 ,Yk; Fiwe;j 5 ,d; klq;Ffs;} vdpy; 

   M = {     } my;yJ 

   M = ∅ 

gapw;rp 19.2 

(1) D = { 2 gf;fq;fs; kl;Lk; nfhz;l gy;Nfhzpfs;} 

(2) F = { thdtpy;ypd; epwq;fs;} 

(3) G = { 0 } 

(4) X = { 1 ,w;Fk; 3 ,w;FkpilNa cs;s xw;iw vz;fs;} 

(5) Y = { rJu vz;zhf mikAk; Kjd;ik vz;fs;} 
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 njhil xd;wpd; %yfq;fspd; vz;zpf;if 

cjhuzk; : T = { 1 , 4 , 9 , 16 } vdpy;  

   njhil T ,d; %yfq;fspd; vz;zpf;if 4 MFk;. 

   ,jidf; FwpaPl;L tbtpy; gpd;tUkhW vOjyhk; 

   n ( T ) = 4 

 #dpaj;njhil xd;wpd; %yfq;fspd; vz;zpf;if G+r;rpakhFk;. 

gapw;rp 19.3 

gpd;tUk; njhilfs; xt;nthd;wpdJk; %yfq;fis vOJtjd; %yk; %yfq;fspd; 
vz;zpf;iffis FwpaPl;by; vOJf 

(1) A = { 15 ,Yk; Fiwe;j Kjd;ik vz;fs;} 

(2) X = { “tpflftp” vDk; nrhy;ypYs;s vOj;Jf;fs;} 

(3) Z = { ,yq;ifapd; khfhzq;fs;} 

(4) P = { 3 ,Yk; Fiwe;j 3 ,d; klq;Ffs;} 

(5) S = { 0 } 

(6) B = ∅ 

(7) Y = { 36 ,d; fhuzpfs;} 

(8) M = { 36 ,d; Kjd;ikf; fhuzpfs;} 
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myF 20 – gug;gsT 

 nrt;tfj;jpd; gug;gsT 

 

nrt;tfj;jpd; gug;gsT = ePsk; X mfyk;  

 

 

 

 rJuj;jpd; gug;gsT 

 

rJuj;jpd; gug;gsT = (gf;fePsk;)
2 

 

 

 nrq;Nfhz Kf;Nfhzpapd; gug;gsT 

 

 

 

 

 

 

 nrq;Nfhz Kf;Nfhzpapd; gug;gsT = 
1

2
 × (nrt;tfj;jpd; gug;gsT) 

 nrq;Nfhz Kf;Nfhzpapd; gug;gsT = 
1

2
 × ePsk; × mfyk; 

 

 nrq;Nfhz Kf;Nfhzpapd; gug;gsT = 
𝟏

𝟐
 × mb × nrq;Fj;Jauk; 
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cjhuzk; :  

 

 

 

 

nrq;Nfhz Kf;Nfhzpapd; gug;gsT  = 
1

2
 × 12cm ×  8cm 

          =  48cm
2 

gapw;rp 20.1 

 

         

 

 

 

 

Kf;Nfhzp ABC ,d; gug;gsT ahJ?          Kf;Nfhzp PQR ,d; gug;gsT ahJ? 

 

 

 

    

 

 

Kf;Nfhzp XYZ ,d; gug;gsT ahJ? Kf;Nfhzp QRS ,d; gug;gsT ahJ? 

 

  

 i. Kf;Nfhzp ABC ,d; gug;gsT ahJ? 

 ii. gf;fk; AC ,d; ePsk; ahJ? 
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 $l;Lj; jsTUf;fspd; gug;gsT 

cjhuzk; : 

 nrt;tfj;jpd; gug;gsT = 12𝑐𝑚 × 9𝑐𝑚 

               = 180𝑐𝑚2 

 Kf;Nfhzpapd; gug;gsT =
1

2
× 8𝑐𝑚 × 9𝑐𝑚 

       = 36𝑐𝑚2 

 $l;LUtpd; gug;gsT = 180𝑐𝑚2 + 36𝑐𝑚2 

     = 216𝑐𝑚2 

gapw;rp 20.2 

epwe;jPl;lg;gl;l gFjpapd; gug;gsitf; fhz;f 
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jpz;k cUf;fspd; Nkw;gug;gsT 

 fdTUtpd; Nkw;gug;gsT 

 

 

 

 

 

  

fdTUtpd; Nkw;gug;gsT = 2 ePsk;×mfyk;+ 2 mfyk;×cauk;+ 2 cauk;×ePsk; 

       = 2 (ePsk;×mfyk; + mfyk;×cauk; + cauk;×ePsk;) 

 

cjhuzk; :  

 

 

 

 

 

fdTUtpd; Nkw;gug;gsT  = 2 (15cm×8cm + 8cm×6cm + 6cm×15cm) 

          =  2 (120𝑐𝑚2 + 48𝑐𝑚2 + 90𝑐𝑚2) 

      =  2 × 258𝑐𝑚2 

    =   516𝑐𝑚2 

gapw;rp 20.3 

gpd;tUk; fdTUf;fspd; nkhj;j Nkw;gug;gsTfisf; fhz;f 
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 rJuKfpapd; Nkw;gug;gsT 

 

      rJuKfpapd; Nkw;gug;gsT = 6 × (gf;fePsk;)
2
 

 

 

 

 

gapw;rp 20.4 

gpd;tUk; rJuKfpfspd; nkhj;j Nkw;gug;gsTfisf; fhz;f 

 

 

 

  


